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VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 5 190,78 kamenina
S2 1,86 100/60 V 1. VEDL. PRITOK = 5 = = ) 1 . 1 . B B . .
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 5 154,8 kamenina
S2a | 2,05 100/60 V 1. VEDL. PRITOK : - - 5 . 1 - 1 - - . . 2
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 5 214,22 kamenina
S3 2,32 100/60 V 1. VEDL. PRITOK = 5 = = 1 1 . 1 ) B 2 B 1
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
g4 | 180 TBZ -Q.1 HL. PRITOK_ 300 400 146,87 | kamenina 1 i i 1 i i i i 2
100/60 V 1. VEDL. PRITOK 150 150 235 kamenina
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 5 182,25 kamenina
Sda | 285 100/60 V 1. VEDL. PRITOK p . : - . 1 1 1 - - . . .
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 40 213,07 | kamenina
2 S5 3,85 100/60 V 1. VEDL. PRITOK = 5 = - B 1 2 1 ) . B ) .
- 2. VEDL PRITOK = = = -
de VYTOK 300 0 0 kamenina
<) 36 | ess TBZ -Q.1 HL. PRITOK_ 300 5 164,53 | kamenina i 1 5 1 i 1 i i i
N ' 100/60 V 1. VEDL. PRITOK 200 50 86,35 kamenina
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 5 192,52 kamenina
S7 6,80 100/60 V 1. VEDL. PRITOK 200 50 85,8 kamenina 1 ) 5 1 ) ) . B 2
2. VEDL PRITOK - -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 106,3 kamenina
S8 312 100/60 V 1. VEDL. PRITOK 300 100 221.66 | kamenina ! ! ! 1 ) ) ) ) )
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 5 270 kamenina
S9 2,92 100/60 V 1. VEDL. PRITOK - 5 - B . 1 1 1 ) . - 1 -
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 5 178,93 kamenina
S10 | 235 100/60 V 1. VEDL. PRITOK 300 100 127 kamenina ) ) ! ! ) ) ) ) )
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
= TBZ -Q.1 HL. PRITOK 300 5 173,73 kamenina
S11 | 236 100/60 V 1. VEDL. PRITOK 300 100 133 kamenina ) ) ! ! ) ) ) ) )
2. VEDL PRITOK 150 150 90 kamenina
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VYTOK 300 0 0 kamenina
TBZ -Q.1 HL. PRITOK 300 5 184,9 kamenina
S12| 258 100/60 V 1. VEDL. PRITOK = . = 2 . ) 1 1 ) 1 ) ) 2
2. VEDL PRITOK . . . -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 179,1 kamenina
S13 | a7 100/60 V 1. VEDL. PRITOK 200 50 88 kamenina 1 ) 1 1 ) . 2 ) )
2. VEDL PRITOK . . . -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
Si4 3,04 100/60 V 1. VEDL. PRITOK = 5 2 B B 1 1 1 ) - B - 2
2. VEDL PRITOK . . . -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S15 | 241 100/60 V 1. VEDL. PRITOK 150 100 267 kamenina . ) 1 1 ) . 1 ) )
2. VEDL PRITOK = = = .
® VYTOK 300 0 0 kamenina
— & TBZ-Q.1 HL. PRITOK 300 5 180,4 kamenina
_545 S16 L 100/60 V 1. VEDL. PRITOK 150 50 262 kamenina ! ! ! !
e} 2. VEDL PRITOK = 5 = .
) VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 178,8 kamenina
Si7 2,02 100/60 V 1. VEDL. PRITOK 300 100 132 kamenina ! ! ! !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 178,3 kamenina
sis 1,99 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina ! ! ! !
2. VEDL PRITOK 150 150 270 kamenina
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 183,7 kamenina
S19 1,98 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina ! ! ! !
2. VEDL PRITOK 150 150 270 kamenina
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 150 150 270 kamenina
S20 1,74 100/60 V 1. VEDL. PRITOK - - - . ! ! ! !
2. VEDL PRITOK = = = -
© VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 200 50 230,7 kamenina
Q S1 3,48 100/58v 1. VEDL. PRITOK = 5 = 5 ” ) 2 1 ) 1 B ) 1
= 2. VEDL PRITOK = = = -
Cxﬁ VYTOK’ 300 0 0 kamenina
o Y 1.60 TBZ -Q.1 HL. PRITOK_ 300 5 180 kamen!na 1 } } 1 } ) R R }
) ! 100/60 V 1. VEDL. PRITOK 150 150 104,8 kamenina
2. VEDL PRITOK . . . -
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VYTOK 300 0 0 kamenina
33 159 TBZ-Q.1 HL. PRITOK_ 300 5 1735 kamenina 1 ) 3 1 3 ) 3 3 3
! 100/60 V 1. VEDL. PRITOK 150 150 270 kamenina
2. VEDL PRITOK = 5 = 5
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 175,7 kamenina
S4 1,58 100/60 V 1. VEDL. PRITOK 150 150 94,2 kamenina B B ) 1 ) 1 ) ) 2
2. VEDL PRITOK = 5 = 5
VYTOK 300 0 0 kamenina
35 162 TBZ-Q.1 HL. PRITOK_ 300 5 184,82 | kamenina 1 ) 3 1 3 ) ) 3 3
! 100/60 V 1. VEDL. PRITOK 150 100 103,64 kamenina
2. VEDL PRITOK = 5 = 5
© VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 188,4 kamenina
2 Ssa 1,50 100/60 V 1. VEDL. PRITOK = 5 = 5 B ) ) 1 . B 1 1 )
= 2. VEDL PRITOK = = = -
@ VYTOK 300 0 0 kamenina
S| g6 | 16 TBZ -Q.1 HL. PRITOK_ 300 5 1917 | kamenina | ) ) 1 ) ) 1 ) )
ﬁ ! 100/60 V 1. VEDL. PRITOK 150 150 98 kamenina
2. VEDL PRITOK = 5 = 5
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 186,2 kamenina
S7 2,07 100/60 V 1. VEDL. PRITOK = 5 = 5 ” 1 ) 1 ) B 2 ) 1
2. VEDL PRITOK = 5 = 5
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 187,8 kamenina
S7a | 183 100/60 V 1. VEDL. PRITOK : - B . 1 - - 1 - 1 - - 2
2. VEDL PRITOK = 5 = 5
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S8 1,50 100/60 V 1. VEDL. PRITOK 150 150 143 kamenina B B ) 1 ) B 1 ) 1
2. VEDL PRITOK = 5 = 5
VYTOK 250 0 0 kamenina
31 286 TBZ-Q.1 HL. PRITOK_ 200 50 267,5 kamenina ) 1 1 1 3 3 ) ) 3
- ! 100/60 V 1. VEDL. PRITOK 150 150 186,3 kamenina
Pl 2. VEDL PRITOK = 5 = 5
™ VYTOK 250 0 0 kamenina
2| & | 1e0 TBZ -Q.1 HL. PRITOK_ 250 5 1699 | kamenina | 1 ) 1 ) ) 1 ) )
© ! 100/60 V 1. VEDL. PRITOK 150 150 93 kamenina
~ 2. VEDL PRITOK 2 2 2 .
) VYTOK 250 0 0 kamenina
2] 33 1.60 TBZ -Q.1 HL. PRITOK 150 150 92 kamenina 1 ) ) 1 ) ) ) } )
' 100/60 V 1. VEDL. PRITOK - - = 5
2. VEDL PRITOK = 5 = 5
VYTOK 300 0 0 kamenina
% a 31 1.96 TBZ -Q.1 HL. PRITOK 300 5 169,37 kamenina ) 1 ) 1 ) ) 2 ) )
P ' 100/60 V 1. VEDL. PRITOK 150 150 72 kamenina
2. VEDL PRITOK = = = 5
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VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 168,6 kamenina
S2 2,15 100/60 V 1. VEDL. PRITOK 300 100 80 kamenina ! ! ) ! ) ) ! ) )
2. VEDL PRITOK - - - 5
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 181,75 kamenina
S3 2,22 100/60 V 1. VEDL. PRITOK 300 100 227,84 | kamenina ! ! ) ! ) ) 2 ) )
2. VEDL PRITOK 150 150 120 kamenina
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 178,39 kamenina
S4 2,00 100/60 V 1. VEDL. PRITOK 150 150 88 kamenina ) ! ) ! ) ) ! ) !
2. VEDL PRITOK B - B 5
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S5 1,90 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina ) ! ) ! ) ) ! ) )
2. VEDL PRITOK - - - 5
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 179 kamenina
S6 1,90 100/60 V 1. VEDL. PRITOK 150 150 93 kamenina ) ! i ! i ) ! ) i
o 2. VEDL PRITOK - - - -
2 VYTOK 300 0 0 kamenina
- 37 1.85 TBZ -Q.1 HL. PRITOIS 300 5) 180 kamenina R 1 } 1 } B B R }
@ 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina
—‘é 2. VEDL PRITOK = 5 = .
(*j"-’ VYTOK 300 0 0 kamenina
38 1.85 TBZ -Q.1 HL. PRITOIf 300 5) 180 kamenina R 1 } 1 } R R R }
' 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 181 kamenina
S9 1.85 100/60 V 1. VEDL. PRITOK : - : ; ) ! i ! i ) ) ) i
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S10 | 77 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina ! i i ! i ) ) ! !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S11| 182 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina ! i i ! i ) ! i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S12 | 179 100/60 V 1. VEDL. PRITOK : - : ; ! i i ! i ) ) i 2
2. VEDL PRITOK = = = -
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VYTOK 300 0 0 kamenina
o TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
Q S13 | 1e 100/60 V 1. VEDL. PRITOK - - - - 1 i i 1 i i 1 i 1
- 2. VEDL PRITOK = = = -
_545 VYTOK 300 0 0 kamenina
[e) & TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
) Sl4 | 173 100/60 V 1. VEDL. PRITOK - - - ; ! . . ! : ! . . !
2. VEDL PRITOK = = = -
o o VYTOK 300 0 0 kamenina
2 & 32a 181 TBZ -Q.1 HL. PRITOIS 150 150 180 kamen!na 1 } } 1 } R 2 } 1
o ':' 100/60 V 1. VEDL. PRITOK 150 150 270 kamenina
2. VEDL PRITOK g 2 g .
VYTOK 300 0 0 kamenina
s1 1,59 TBZ -Q.1 HL. PRI’TOIS 300 5 176,4 kamen?na 1 ) ) 1 ) } ) ) )
100/60 V 1. VEDL. PRITOK 150 150 89 kamenina
2. VEDL PRITOK = = = .
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 160 kamenina
S2 2,02 100/60 V 1. VEDL. PRITOK : - : } ) ! i ! i ) ) ! !
2. VEDL PRITOK = = = .
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 156,78 kamenina
S3 2,07 100/60 V 1. VEDL. PRITOK : - : ; ) ! i ! i ) 2 i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S4 2,00 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina ) ! i ! i ) ! i !
% CH‘:’, 2. VEDL PRITOK - - - =
Hh - VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S5 2,00 100/60 V 1. VEDL. PRITOK 150 150 103 kamenina ) ! i ! i ) ! i !
2. VEDL PRITOK 200 150 270 kamenina
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S6 1,82 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina ! i i ! i ) 2 i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 179 kamenina
S7 1,82 100/60 V 1. VEDL. PRITOK 150 150 102 kamenina ! i i ! i ) 2 i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S8 1,83 100/60 V 1. VEDL. PRITOK : - : } ! i i ! i ! ) i 2
2. VEDL PRITOK = = = -
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VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S9 1.81 100/60 V 1. VEDL. PRITOK : - : ; ! i i ! i ) 2 i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 182 kamenina
S10 | 181 100/60 V 1. VEDL. PRITOK 150 150 245 kamenina ! i i ! i ) 2 i !
2. VEDL PRITOK = = = -
§ VYTOK 300 0 0 kamenina
— & TBZ -Q.1 HL. PRITOK 300 5 179 kamenina
g Sl 18l 100/60 V 1. VEDL. PRITOK 150 150 89 kamenina ! i i ! i ) 2 i !
% 2. VEDL PRITOK - - - 2
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 92 kamenina
S12 | 180 100/60 V 1. VEDL. PRITOK : - : } ! i i ! i ) ) i 2
2. VEDL PRITOK = = = .
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 150 150 122 kamenina
S13 | 159 100/60 V 1. VEDL. PRITOK : - : } ! i i ! i ) ) i i
2. VEDL PRITOK = = = .
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 210 sklolaminat
S1 1,69 100/60 V 1. VEDL. PRITOK : - : } ! i i ! i ) ) i !
2. VEDL PRITOK = = = .
VYTOK 300 0 0 sklolaminat
& TBZ -Q.1 HL. PRITOK 300 5 205 sklolaminat
§ S2 | 170 100/60 V 1. VEDL. PRITOK - - - ; ! . . ! . i i . !
~ 2. VEDL PRITOK g 2 g .
8 VYTOK 300 0 0 sklolaminat
% &3 1,30 TBZ -Q.1 HL. PRITOK 300 5 174,45 | sklolaminat 1 i i i 1 i i i i
100/60 V 1. VEDL. PRITOK 150 150 265 PVC
2. VEDL PRITOK = = = .
VYTOK 300 0 0 sklolaminat
S4 135 TBZ -Q.1 HL. PRITOK 300 5 185 sklolaminat } ) ) 1 ) ) ) ) )
' 100/60 V 1. VEDL. PRITOK 150 150 263 PVC
2. VEDL PRITOK = = = .
VYTOK 200 0 0 kamenina
o & TBZ -Q.1 HL. PRITOK 200 5 189 kamenina ) ) ) } } ) )
3 Sl2a| 161 100/60 V 1. VEDL. PRITOK - - - - 1 1
s 2. VEDL PRITOK - - - -
g VYTOK 200 0 0 kamenina
] & TBZ -Q.1 HL. PRITOK 200 150 188 kamenina
» |Sl2b| 1,60 100/60 V 1. VEDL. PRITOK - - - ; ! . . ! . . i : :
2. VEDL PRITOK = = = -
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VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 182 kamenina
S1 1.82 100/60 V 1. VEDL. PRITOK 150 150 259 kamenina ! i i ! i ) 2 i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S2 2,31 100/60 V 1. VEDL. PRITOK 150 150 267 kamenina ! ! i ! i ) 2 i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S3 2,11 100/60 V 1. VEDL. PRITOK 150 150 270 kamenina ! ! i ! i ) ) i i
2. VEDL PRITOK = = = .
ﬁ VYTOK 300 0 0 kamenina
— & TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
g S4 2,16 100/60 V 1. VEDL. PRITOK 150 150 260 kamenina ! ! i ! i ) ! i i
% 2. VEDL PRITOK - - - 2
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S5 1,69 100/60 V 1. VEDL. PRITOK 150 150 271 kamenina ! i i ! i ) ) i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S6 1.67 100/60 V 1. VEDL. PRITOK 150 150 90 kamenina ! i i ! i ) ) ! i
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 150 50 268 kamenina
S7 1,09 100/60 V 1. VEDL. PRITOK : - : ; ) i i i ! ) ! i i
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 200 50 265 kamenina
S1 2,96 100/60 V 1. VEDL. PRITOK 150 150 180 kamenina ) ! ! ! i ) 2 i i
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 175 kamenina
3 S2 | 236 100/60 V 1. VEDL. PRITOK 150 150 238 kamenina ! !
- 2. VEDL PRITOK - - - 2
% VYTOK 300 0 0 kamenina
= & TBZ -Q.1 HL. PRITOK 300 5 192 kamenina
@ S3 381 100/60 V 1. VEDL. PRITOK : - : ; ! i 2 ! i ) 2 i !
2. VEDL PRITOK = = = -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 200 50 194 kamenina
S4 4,53 100/60 V 1. VEDL. PRITOK : - : } ) i 3 ! i ) ) ! !
2. VEDL PRITOK = = = -
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VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 181 kamenina
1,68 — 1 - - 1 - - - 1 -
S5 100/60 V 1. VEDL. PRITOK = = - -
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 179 kamenina
1,72 — 1 - - 1 - - 2 - -
S6 100/60 V 1. VEDL. PRITOK 150 150 87 kamenina
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
> 37 1,66 TBZ -Q.1 HL. PRITOIS 300 5) 173 kamen!na 1 } } 1 } R 1 } }
® 100/60 V 1. VEDL. PRITOK 150 150 87 kamenina
- 2. VEDL PRITOK - - - -
% VYTOK 300 0 0 kamenina
& 38 158 TBZ -Q.1 HL. PRITOIS 300 5) 178 kamen!na R } } 1 } 1 R } 2
100/60 V 1. VEDL. PRITOK 150 150 97 kamenina
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 300 5 180 kamenina
S9 1,62 1 - - 1 - - - - -
' 100/60 V 1. VEDL. PRITOK 150 150 270 kamenina
2. VEDL PRITOK - - - -
VYTOK 300 0 0 kamenina
& TBZ -Q.1 HL. PRITOK 150 150 153 kamenina
1,61 —— 1 - - 1 - - - - -
S10 100/60 V 1. VEDL. PRITOK = = - -
2. VEDL PRITOK - - - -
celkem 46 32 31 83 2 11 50 9 53

HPO 3-4-693 .1



